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11,165,965 10,403,487 762,478
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[+  10,895,465]
7,834,899 7,224,152 610,747
H71E 7% 2 243} [A] 270,500
[+ 7,564,399]
AgH7E 771 2 B 3,156,856 3,181,513 A24,657
TEABSTE 2 g7 E2EA B 209,483 118,238 91,245
201 HHH-gH] 209,483 118,238 91,245
01 AFFE#E 208,000 116,819 91,181
OFFA dura-FA) 2 187,697
0 TFA BF 3,587,0729%49.39 = 176,843
0FTETE BT 67,0007 x1629 = 10,854
O7VEALA A& A2 27,452 #2779 = 7,605
O AN e A A% 71,031m+162¢ = 11,508
O s % JH s IAA
1724 2H70,0009 = 1,190
02 F3F&%9H 1,483 1,419 64
OFZFA EFAL s/wiA B
295,590+43] )+( el v] =2l H] 300,00091) = 1,483
7HaA Al T = A E 122,023 127,490 A5, 467
307 H7kold 122,023 127,490 N5,467
05 WZHIEH 122,023 127,490 N5, 467
O7H A Al 8- A A 2l
10,168,566 %129 = 122,023
AEA7E 4.9 A 2,075,629 2,215,559 139,930
307 F17kol 2,075,629 2,215,559 139,930
05 TSI e+ 2,075,629 2,215,559 A139,930
OAgH7= s3] dad = 2,075,629
o AT 7IETY
23,500+80, 700 )+(23,500F 80, 700 *2.
0%) = 1,934,379
0 FE A LA 110,914
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o HIZALEl A 2] H] ({51])
4,0612%7 4709 = 30,336
Age7) = FEdEA 2 A7 v A g 441,930 420,600 21,330
403 A=A T A A o] A 441,930 420,600 21,330
02 37|75 ol o) o) AL B 441,930 420,600 21,330
ORI ErEdm AL AR = 441,930
071 ET 23,500%+16,3209) = 383,520
0T ETATA 3,579%+16,320%) = 58,410
wFA = A A 305,109 297,392 7,717
307 F17ko] A 257,648 249,931 7,717
05 WZHIEH 257,648 249,931 7,717
O = 7] &5 A v
21,470,620 %129 = 257,648
308 AFA eA] 5ol A 47,461 47,461 0
05 ARXGA| TR H 47 461 47,461
O @A 7= FA ]
2,175.99%+%21,811¢ = 47,461
287 dA A2 e 2,682 2,234 448
201 4Rk 780 782 A2
01 AFE#En 780 782 A2
OUANHBH A7 QT 780,0009) = 780
307 F7ko] A 1,452 1,452 0
05 TSI g+ 1,452 1,452
O22#| 7] A B A A 22 ] -G 1]
121,0009%12¢ = 1,452
405 AFAEF 54| 450 0 450
01 AAREEFHSH] 450 0 450
OA-& (1) 450,0009 = 450
608,314 218,242 390,072
LAY A A [A] 264,000]
[ 344,314]
2RSS AY 93,129 114,417 ~21,288
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Aol N R Kl R EAR S 24,525
ot (44 A8) 600<1%2,0007) = 1,200
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o4} 5,000 75 375
o 229 ¥7] 11,0001 %75 825
02 FF+9H] 66,204 78,778 N12,574
OFA N FH=(A23]) 2,772
o XMFHAxt 176,700 #4 0} 23] 1,414
0 AL gHAHS= A} 188,480 #21)| %23] 754
o SHEAHHE) 168,290 * 1t} 23] 337
o MEAHFE) 66,750 #2023 267
OALAR P 5 (A13]) 6,600
o WFHAxt 925,000 #4t) 3,700
o Lt} 1,000,000 #2tH 2,000
o 3= E) 300,000 *1th 300
o StEAHFH) 300,000 #2th 600
OA}&2FA| 149
o 3=2HHE) 75,520+ 1) 76
o tEAHFH) 36,330 #2t) 73
OA&gF2FFAH| 50,0009 *20Tth 1,000
OxpFd vk 55,683
o MFHAxt 8,300,000 #4tH 33,200
o AL A} 5,050,000 2] 10,100
o =2 E) 5,994,300+ 1) 5,995
o HEAHFE) 3,193,950 #2th 6,388
203 QG F-F%1H| 2,400 2,000 400
03 Al A FZJH-F210] 2,400 2,000 400
O aFAAA A FFH 2,400,000¢ 2,400
66,000 66,000 0
AR LA A ] 33,000]
33,000]
66,000 66,000 0
201 LRk 33,000]
33,000]
01 A7 H] 66,000 66,000
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OxWH A=A e 66,000,0009 = 66,000
(] 33,000]
[ 33,000]
16,000 16,000 0
FadA 7ee@T
[~ 16,000]
16,000 16,000 0
307 ¥17kel
[A] 16,000]
05 W9 E= 16,000 16,000
OALJA 7 s 16,000,000 = 16,000
[A] 16,000]
30,000 18,000 12,000
EHF7] 287 A A (@FHEAD [A] 15,0001
[+ 15,000]
30,000 18,000 12,000
307 1ztol [A] 15,000]
[+ 15,000]
05 HIr9IE= 30,000 18,000 12,000
OFAEALA 21| 30,000,000 = 30,000
[A] 15,000]
[+ 15,000]
28 n s A7) A= 1,605 1,605 0
201 LRk 335 335 0
01 ApFaafn] 335 335
OxFFAH =24 n Y, A 2fF24h)
15,0009 %97 = 135
OE =237 v st 3 = o 4 =
100,000 27 = 200
301 GRtRAF 1,270 1,270 0
12 7|EfRA= 1,270 1,270
OXRFNF (=234 s, A 2fa4h)
30,0009 = 270
Ox =237 n sl g d 5 2 A543
100,000 5= %27 = 1,000
AANH AT 1,580 2,220 AB40
201 G Wk H] 1,580 2,220 A640
03 AL A 1,580 2,220 A 640
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OFENE AL EF%(43)) 1,580
o A5t 70,000 #47) = 280
0 o7 2,000 %2507 = 500
LA Ry 20099 #1,5007) = 300
o F7 1,00091 50070 = 500
400,000 0 400,000
AT FE 9 [A] 200,000]
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400,000 0 400,000
405 A4 S [Al 200,000
[ 200,000]
01 AL EFF 51] 400,000 0 400,000
OxwxFHd == +9)ed)
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FaRr] Js e [A] 1,5001]
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FHEEZIgAE e &5 Y 2,250 2,500 A250
201 LWk g H] 2,000 2,000 0
02 FFegn 2,000 1,000 1,000
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200,000 *10th = 2,000
301 LutEgH 250 500 A250
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OF 7 A AL 2= 50,0009 %531 = 250
EWHFE7] 297] A A 39,900 50,000 A10,100
307 W1zkol = 39,900 50,000 10,100
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04 AlAH] 3,000 0 3,000
OFAAE 2A 3,000,000 = 3,000
[A] 1,500]
[ 1,500]
A&7 HA7E Adst 2,765,613 2,572,718 192,895
SAEFAE AT A% 15,000 16,267 A1,267
201 Gk H] 15,000 16,267 A1,267
01 AHF#2H| 15,000 16,267 A1,267
O ERFA7IEH &5 542
15,000,000¢) = 15,000
SAERAVE SRET Y 6,840 5,410 1,430
201 GHk--gH| 1,800 1,810 A10
01 AHF¥2H| 1,800 1,810 A10
OSAEFRA7IETHEAZ 800,0009 = 800
OFHEYSFTFT4Y 500,000 = 500
O A EFH7IEF T 7] 7 L2~ E A A 2
500 %1,0001) = 500
202 o] 5,040 3,600 1,440
01 ol 5,040 3,600 1,440
OAE AZEEHNETS
10,000 #3™ * 14D *12¥ = 5,040
SAERHAE A2 E 2,735,773 2,535,041 200,732
307 Wzko]l A 1,536,645 1,310,041 226,604
05 HIFeIE= 1,536,645 1,310,041 226,604
O EFAZIEA UYL g5 1,536,645
ooAE T, g
24 ,472F %49 3249 = 1,207,057
o HIZHAl &218 Aedida
67,3209 %75= %50 = 252,450
o Al £218 W AP
20,5703, 7508 = 77,138
308 A} kA5 o] A 1,199,128 1,225,000 N25,872
05 AR SAFEHH 1,199,128 1,225,000 N25,872
O ERA7IEAZIY =
24, 472% %49 0009 = 1,199,128
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FAEAEFALT] Y 8,000 16,000 8,000
405 AAFH 5] 8,000 16,000 A8,000
01 A EEFHSH| 8,000 16,000 A8,000
OLAEALFAL7 7Y 20070#40,000¢ = 8,000
AggF A3}t # 760,146 723,353 36,793
Ae-gF Al e 751,136 714,243 36,893
307 W17ko] A 751,136 714,243 36,893
05 W9 E= 751,136 714,243 36,893
OMg&FA e thd = 751,136
0 R, ¢HhH| 175,994 %4, 150% = 730,376
o AEA EH] 20,760,0009 = 20,760
AgE AA3 &5 A 5,700 2,730 2,970
201 HHHEgH] 2,200 2,730 2530
01 ApF3ain] 1,000 810 190
OANEE&TREAZ 1,000,0009) = 1,000
02 FTT9H] 1,200 1,920 AT720
Od =N 400,000¢) = 400
OA = i 1] 300,000 = 300
OAZ7l B71 3 A 500,000¢) = 500
405 A4 54 3,500 0 3,500
01 AL EZFFHSH 3,500 0 3,500
OHA™A =A% +4 25,0009 %1407} = 3,500
HudHe 9 2,310 3,400 A1,090
201 Ak H] 1,910 3,000 A1,090
03 AR AH] 1,910 3,000 1,090
OvsdH -4 1,910
o Asut 70,0009 %137) = 910
0 FAEETS 1,000,000 %13] = 1,000
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12 7|EfRA= 400 400
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13] &% AR&AAl =3 1,000 2,080 A1,080
201 dykeodu] 500 1,080 2580
01 A n) 500 1,080 AB580
O13] &FSHEA 2} 500,000 = 500
301 ARtRAF 500 1,000 AB500
12 7|EfR A= 500 1,000 A500
O13] &% Naxd= 500,0009 = 500
22,460 32,426 A9,966
shgA 3 Astx e [A] 5,000]
[+ 17,460
ot E s gA ] 2/ 4 e 9,890 10,945 A1,055
201 YWk g H] 9,890 10,945 A1,055
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OFFshddae &+ 1,500,0009 = 1,500
02 FTFTE9H 8,390 8,945 A555
OTTgAgstx4d A(A13) 780,000¢) = 780
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O3 3441 (1,00081H) 910,000 = 910
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T3 EA A . FF A [A] 5,000]
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0 1 E 1 3| 140,000 #7799 %129 = 129,360
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o 7] 30,160 %365 = 11,009
o7 917,370 %400%+17 = 3,670
o Al ZFe T E-
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